EARAROBEEIERT — 2 N— IBISH —F

20185118270 (K) 18EI&IR2H

KW N\ 2R CAHASRTHERRE C25 7% —K (xwlw | lmEmml - |5 ) oo E
[AE4£] 1% :250,000” ~ 23#%&:57,000 M  33&:30,000” . 437&:22,000MH . 57&:15,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< = N EMESH :39. -1-1- . — Il HEZ (£iR)
el 7 | #—37 1502 3 Ea 1(3_9)0 1-1-1-1 | 40.9 2 30) B
L:€r/0704 B:FRy hT7HFI- /A7 NI 1A
. 5 a4 .40, 54— 2| = #ARED (£iR)
) 6| T2 F2 £ 3 i 1 (450)0 4-5-4-4 | 41.2 4 (43 A
L:a=—/xLLy b BidvarLY—F KT 7 — L
= 4 3 | SHERE 1:40.5 3-2-2-2 | 42.0| — 6 517 | &% (£R)
31819 ILTaFF 54.0 (2 1/2) ) () PIRI4%S
L:O—-KA+a7 B:7075% A+ FEI
— N MAHIES] : 44— — £H—8 (£R)
B Fey Ty R Ty | e P Ao |z
L/ TV By rFINy HBITr—L
5 . 4 3 | BAX— 1:41.0 7-7-7-6 | #1.5| — 7 505 | FHE— (£R)
5|55 71T —L=2 56.0 @) (+3) | AR
R:T—0T4—Z B:AAT)-X TS
= o RS BEEHEAR 41, =2 . — £H—8 (&R
6 2| FTFaTINTALR I 56.0 1(34/14>2 SR ° ?_3; 4£FF
RiFYN B:ITUALRTT HFASZREy K
4 5 | BB 1:43.1 8-8-8-8 |41.7| — 9 478 | hNEEFNZE (£R)
7011|717 — 56.0 © ey | HTE
X+ TTLRT70—7 B4 F—NFLR Ele ke
N FERAHA : ~6-6- — BRIk (£R)
sl 4| NTT7—TJ#I b "85 T oo | 1 :?;) %=
LixAagR—-5— B:ULTT1H— ipikye)
4 8 | BREBKHE 1:45.0 9-9-9-9 |43.2| — 8 448 | HHE— (£R)
9/8|8 ARET7)—F 56.0 (1 1/2) (+3) WAEFTHK
R:A—Y X424 B:v1xF7U—F EvilLy RTy—L
® I—F—@EBIERL
12—4+— 7,2,9,(3,6),4,5,1,8
Ao=5"= 7,9,2,3,6,4,5,1,8
T =35r= 7,(2,9),(3,6),4,5,1,8
41—F— 7,(2,9),6,3,5,4,1,8
[ RN
B 7 500 794K 6-7 330M & 6-7 1,490 &R 6-7-9 9,650
# B 7 110M 7-9 2,430 B 7-6 3,140M EE 7-6-9 43,700/
6 160M 6-9 1,690H B = 6-7 1,560M
9 490/ B H 7-6 2,860

ABICOVWTRDTEEERROODE. TR LIV,




